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QUESTION 1

An administrator implements two redundant Aruba Mobility Masters (MMs). Which protocol should the administrator use
to detect a failure in a single subnet? 

A. PAPI 

B. SNMP 

C. VRRP 

D. IPSec 

Correct Answer: C 

Reference: https://www.google.com/url? sa=tandrct=jandq=andesrc=sandsource=webandcd=1andcad=rjaanduact=8an
dved=2ahUKEwj2goKg4dbeAhVP5IUKHVIiBS
8QFjAAegQICRACandurl=https%3A%2F%2Fcommunity.arubanetworks.com%2Faruba% 2Fattachments%
2Faruba%2FAruba-VRDs%2F14%2F1%2FAruba%2520Mobility%2520Controllers-%
2520PDF.pdfandusg=AOvVaw09REIwQd_lHGXo_GO3vf8J 

 

QUESTION 2

A branch office location has two buildings: an office and a small warehouse that are within 20 meters of each other. A
RAP at the branch office provides connectivity to the corporate office network. This RAP is also configured as a Remote
Mesh Portal (RMP). 

Which solution should the administrator implement to provide connectivity between the office and small warehouse
buildings at the branch office location? 

A. Deploy a Remote Mesh Portal in the warehouse building to connect to the Remote Mesh Portal in the office building. 

B. Deploy a Remote Mesh Point AP in the warehouse building to connect to the Remote Mesh Portal in the office
building. 

C. Deploy an ArubaOS-Switch in the warehouse building with tunneled node to connect to the Remote Mesh Portal in
the office building. 

D. Deploy a Mesh Point AP in the warehouse building to connect to the Remote Mesh Portal in the office building. 

Correct Answer: A 

 

QUESTION 3

Which license type must an administrator purchase to use Spectrum Monitoring? 

A. RFP 

B. VMC 

C. PEFV 
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D. PEFNG 

Correct Answer: A 

Reference: http://community.arubanetworks.com/t5/Wireless-Access/license-requirements-air-monitorspectrum-
monitor/td-p/243832 

 

QUESTION 4

An administrator manages an Aruba wireless network. ClearPass is used to centralize AAA functions. The administrator
wants to implement server role derivation. 

Which information will the ClearPass server return in regards to the user role assignment? 

A. RADIUS VSA User-Role 

B. Aruba VSA Firewall-Role 

C. Aruba VSA Aruba-User-Role 

D. RADIUS VSA Firewall-Role 

Correct Answer: A 

 

QUESTION 5

Refer to the exhibit. 

An administrator implements the MultiZone feature. The administrator sets up five zones as shown in the 
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exhibit. 

-Zone A has six controllers that form a cluster. 

-Zone B has three controllers that from a cluster. 

-Zones C, D, and E have a single standalone controller each. 

A total of 13 VAPs are created across the five zones. A zone needs to accept RAP connections form 

branch offices. All zones have the same AP Group name. One of the zones will not accept connections 

from the MultiZone APs. 

Which could be a cause of this problem? 

A. RAPs are used in the configuration. 

B. The number of zones exceeds the maximum limit of four zones. 

C. AP Group names are different for each zone. 

D. The number of VAPs exceeds the maximum limit of 12 VAPs. 

Correct Answer: D 

HPE6-A44 VCE Dumps HPE6-A44 Study Guide HPE6-A44 Braindumps

Powered by TCPDF (www.tcpdf.org)

HPE6-A44 VCE Dumps | HPE6-A44 Study Guide | HPE6-A44 Braindumps                                4 / 4

https://www.pass2lead.com/hpe6-a44.html
https://www.pass2lead.com/hpe6-a44.html
https://www.pass2lead.com/hpe6-a44.html
http://www.tcpdf.org
https://www.pass2lead.com/hpe6-a44.html
https://www.pass2lead.com/hpe6-a44.html
https://www.pass2lead.com/hpe6-a44.html

